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1 [guET™E o | o 0 0 0 0 0 0 0 0
2 (T 0 0 0 0 0 0 0 0 0 0
3 [|TEmey 6 0 0 6 0 0 0 0 0 6
4 [ 3 o] o 3 0 0 0 0 0 3
5 [T 6 8 0 14 0 0 0 0 0 14
6 | 4 1 0 5 0 0 0 0 0 5
7 [WeT®S 2 0 0 2 0 0 0 0 0 2
B 21 9 0 30 0 0 0 0 0 30
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1 [EHTE o 1o | o 0 0 0 0 0 0 0
2 (=T 2 0 0 2 0 0 0 0 0 2
3 [TRETEg o | o 0 0 0 0 0 0 0 0
4 [ 2 o] o 2 0 0 0 0 0 2
5 [T 0 0 0 0 0 0 0 0 0 0
6 [N o o] o 0 0 0 0 0 0 0
7 [WSTSS o o | o 0 0 0 0 0 0 0
T 4 0 0 4 0 0 0 0 0 4
I (A+B+C+D+E+F+H+H)=J
PFCEE o) 81 0 20 101 0 0 12 0 0 89
5 [T 103 | 0 12 115 0 0 9 0 0 106
3 |WRiEmIEg 12 [ o 0 12 0 0 0 0 0 12
PELE 136 | 0 18 154 0 0 11 0 0 143
5 |weTe= 89 | 18 0 107 0 0 18 0 0 89
6 | 31 2 0 33 0 0 0 0 0 33
7 [STEE 9 0 0 11 0 2 0 0 0 9
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T (K+L+M+N)=0
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It (0) 33 33 0 0 0 0 0 33
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* TWH - TRANSFER WITHIN THE HERD.




